
Scientific Notation (A)Convert each ordinary number to scientific notation.
0.0000095 = 0.000000765 =
0.0001463 = 0.000023 =

0.00024 = 0.00233 =
0.00000003944 = 0.0052 =

0.00003995 = 0.000045 =
0.0054 = 0.0000000996 =

0.0005416 = 0.000000033 =
0.008 = 0.00000006404 =

0.000822 = 0.000004974 =
0.0000000243 = 0.0004041 =
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Scientific Notation (A) AnswersConvert each ordinary number to scientific notation.
0.0000095 = 9.5 × 10⁻⁶ 0.000000765 = 7.65 × 10⁻⁷
0.0001463 = 1.463 × 10⁻⁴ 0.000023 = 2.3 × 10⁻⁵

0.00024 = 2.4 × 10⁻⁴ 0.00233 = 2.33 × 10⁻³
0.00000003944 = 3.944 × 10⁻⁸ 0.0052 = 5.2 × 10⁻³

0.00003995 = 3.995 × 10⁻⁵ 0.000045 = 4.5 × 10⁻⁵
0.0054 = 5.4 × 10⁻³ 0.0000000996 = 9.96 × 10⁻⁸

0.0005416 = 5.416 × 10⁻⁴ 0.000000033 = 3.3 × 10⁻⁸
0.008 = 8 × 10⁻³ 0.00000006404 = 6.404 × 10⁻⁸

0.000822 = 8.22 × 10⁻⁴ 0.000004974 = 4.974 × 10⁻⁶
0.0000000243 = 2.43 × 10⁻⁸ 0.0004041 = 4.041 × 10⁻⁴
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